SA KX D
HE: SHAG S L NAATASH(LUDTTHT /AP HT)

Sl HOMXAS U SOIEEDH (e @R
SH B S(BH) - NRAY - BES 0 & o4 p[E-L" HRE2
YNDNR-ESPnl; 16,696,793 20,498,345 A 3,801,552

= 1,081,860 1,081,860 0

=) 15,614,933 19,416,485 A 3,801,552

CHEW S0 ¥ UXIS2 (LT SHE /LB E) 16,602,179 20,404,394 A3,802,215
= 1,052,639 1,052,639 0

< 15,549,540 19,351,755 A 3,802,215

FHUX A 2 ZoseP 984,323 995,000 A 10,677
=X 24d st 187,600 217,600 A 30,000
307 212tol & 66,600 96,600 30,000
02 lAFHANSEX 66,600 96,600 30,000
OFQIXTXIs F&2ds ws X 66,600 96,600 A 30,000
CHOtel defE QIRoZ XI& 38,688 0 38,688
401 AIEHI L 201 bl 38,688 0 38,688
01 AIZHI 38,688 0 38,688
OUi0tel dsE eIz X3 38,688 0 38,688

ol Hg Jlgt 2= 29,000 36,500 AT,500
201 L2 | 2,000 7,000 25,000
01 AtR 22l H 2,000 7,000 25,000
oQAEHE 2Y S 0 5,000 A5,000

202 O H 2,000 4,500 A 2,500
01 S WA BI 2,000 4,500 A 2,500
OQASH HRFA 2,000 4,500 A 2,500
Es & S8 AH F=A 54,200 57,200 A 3,000
202 044l 2,000 5,000 A 3,000
01 2 2,000 5,000 A 3,000
OQAAE Y ZAES 2,000 5,000 3,000
gI=ABIDE ALY 27,235 33,100 A5,865
201 24l 2,083 3,100 A1,017
01 At 22|l 2,083 3,100 A1,017
OFANNEAAS 29 2,083 3,100 A1,017

207 H O] 25,152 30,000 AN 4,848
01 A7 EHH| 25,152 30,000 N4,848
O=FACNE J=2HE =8 271243 25,152 30,000 N4,848
QFsE2s 28l e € NUE A Y 5,700 8,700 A 3,000
301 etE2d = 5,700 8,700 A 3,000
01 A28 X 6= 5,700 8,700 A 3,000
OUFESES UK M L MY AL 5,700 8,700 A3,000
QI SEEH W K& 1,177,990 1,240,990 A 63,000
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